



姓名: _____

日期: _____ 分数: _____

$9^3 - (-4) =$

$(-9)^3 + 4 =$

$(-1)^2 + 8 =$

$(-8)^3 - (-2) =$

$(-10) - (-1) =$

$7^2 - 3 =$

$5^3 + 8 =$

$7^3 - 7 =$

$7^3 - (-10) =$

$4 - (-2) =$

$10^3 - 1 =$

$6^3 - (-8) =$

$(-6)^3 - (-4) =$

$(-9) - 8 =$

$2^2 - (-2) =$

$10^0 - (-4) =$

$10^0 - 10 =$

$(-1)^0 - (-10) =$

$1 - (-8) =$

$(-2)^0 - (-7) =$



姓名: _____

日期: _____ 分数: _____

$$9^3 - (-4) = 733$$

$$(-9)^3 + 4 = (-725)$$

$$(-1)^2 + 8 = 9$$

$$(-8)^3 - (-2) = (-510)$$

$$(-10) - (-1) = (-9)$$

$$7^2 - 3 = 46$$

$$5^3 + 8 = 133$$

$$7^3 - 7 = 336$$

$$7^3 - (-10) = 353$$

$$4 - (-2) = 6$$

$$10^3 - 1 = 999$$

$$6^3 - (-8) = 224$$

$$(-6)^3 - (-4) = (-212)$$

$$(-9) - 8 = (-17)$$

$$2^2 - (-2) = 6$$

$$10^0 - (-4) = 5$$

$$10^0 - 10 = (-9)$$

$$(-1)^0 - (-10) = 11$$

$$1 - (-8) = 9$$

$$(-2)^0 - (-7) = 8$$